

10/02/24

Dr. Sanjay Kumar

Teaching: Online Mode

Asst. Prof. & Head, Physics, JIO JCMU, A.S.

Further evaluate $[x, p_y]$

$$p_y = \frac{\hbar}{i} \frac{\partial}{\partial y}$$

$$[x, p_y] \psi = (x p_y - p_y x) \psi = x \frac{\hbar}{i} \frac{\partial \psi}{\partial y} - \frac{\hbar}{i} x \frac{\partial \psi}{\partial y}$$

$$\left[\because \frac{\partial x}{\partial y} = 0 \right]$$

$$\therefore [x, p_y] = 0$$

$$\text{Similarly } [x, y] = xy - yx = 0$$

$$[p_x, p_y] \psi = \left(p_x p_y - p_y p_x \right) \psi$$

$$= \left(\frac{\hbar}{i} \frac{\partial}{\partial x} \frac{\hbar}{i} \frac{\partial}{\partial y} \right) \psi - \left(\frac{\hbar}{i} \frac{\partial}{\partial y} \frac{\hbar}{i} \frac{\partial}{\partial x} \right) \psi$$

$$= -\frac{\hbar^2}{i^2} \frac{\partial^2 \psi}{\partial x \partial y} + \frac{\hbar^2}{i^2} \frac{\partial^2 \psi}{\partial y \partial x} = 0$$

Teacher's Signature

(#) Commutation Rel. bet. momentum and Hamiltonian

$$H = \frac{p_x^2}{2m} + V(x)$$

$p_x \rightarrow$ Momentum operator
 $V(x) \rightarrow$ P.E. operator

$$[H, p_x] = \left[\frac{p_x^2}{2m} + V(x), p_x \right]$$

$$= \left[\frac{p_x^2}{2m}, p_x \right] + [V(x), p_x]$$

$$= \frac{1}{2m} [p_x^2, p_x] + [V(x), p_x]$$

$$= 0 + [V(x), p_x]$$

Now operate $[H, p_x]$ on ψ

$$[H, p_x] \psi(x) = \left\{ V(x) p_x - p_x V(x) \right\} \psi(x)$$

$$= V(x) \frac{\hbar}{i} \frac{\partial \psi(x)}{\partial x} - \frac{\hbar}{i} \frac{\partial (V(x) \psi(x))}{\partial x}$$

$$= V(x) \frac{\hbar}{i} \frac{\partial \psi(x)}{\partial x} - \frac{\hbar}{i} \left(\psi(x) \frac{\partial V(x)}{\partial x} + V(x) \frac{\partial \psi(x)}{\partial x} \right)$$

$$= - \frac{\hbar}{i} \psi(x) \frac{\partial V(x)}{\partial x}$$

$$\therefore [H, p_x] = -i\hbar \psi(x) \frac{\partial V(x)}{\partial x}$$

When particle is free $V(x) = 0$,
 $[H, p_x] = 0$ for free particle.
 If momentum operator in 3D
 $V = V(x)$ in 3D then

$$p = \frac{\hbar}{i} \nabla \Rightarrow [H, p] = i\hbar \nabla V$$

Derivation of the Commutation Rules for the Components of Orbital Angular Momentum.

Let momentum $\rightarrow p$ & $r \rightarrow$ vector relative to origin

then: $\vec{L} = \vec{r} \times \vec{p}$

$$\text{or } (i\hbar x + j\hbar y + k\hbar z) = (i\hbar x + j\hbar y + k\hbar z) \times (i\hbar x + j\hbar y + k\hbar z)$$

$$= (y p_z - z p_y) i + (z p_x - x p_z) j + (x p_y - y p_x) k$$

After comparing both sides we will have,

$$L_x = y p_z - z p_y = \frac{\hbar}{i} \left(y \frac{\partial}{\partial z} - z \frac{\partial}{\partial y} \right)$$

$$\text{Similarly } L_y = z p_x - x p_z = \frac{\hbar}{i} \left(z \frac{\partial}{\partial x} - x \frac{\partial}{\partial z} \right)$$

$$\text{and } L_z = x p_y - y p_x = \frac{\hbar}{i} \left(x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} \right)$$

Commutation Rules:

$$L_x L_y = \frac{\hbar}{i} \left(y \frac{\partial}{\partial z} - z \frac{\partial}{\partial y} \right) \frac{\hbar}{i} \left(z \frac{\partial}{\partial x} - x \frac{\partial}{\partial z} \right)$$

$$= -\hbar^2 \left\{ y \frac{\partial}{\partial z} \left(z \frac{\partial}{\partial x} \right) - y \frac{\partial}{\partial z} \left(x \frac{\partial}{\partial z} \right) \right.$$

$$\left. - z \frac{\partial}{\partial y} \left(z \frac{\partial}{\partial x} \right) + z \frac{\partial}{\partial y} \left(x \frac{\partial}{\partial z} \right) \right\}$$

$$= -\hbar^2 \left\{ y \frac{\partial}{\partial z} + y z \frac{\partial^2}{\partial z \partial x} - y x \frac{\partial^2}{\partial z^2} - z \frac{\partial}{\partial y} + z x \frac{\partial^2}{\partial y \partial z} \right\}$$

$$L_y L_x = -\frac{\hbar^2}{2m} \left\{ \frac{\partial^2}{\partial x^2} - \frac{\partial^2}{\partial y^2} \right\} - \frac{\hbar^2}{2m} \left\{ \frac{\partial^2}{\partial x^2} - \frac{\partial^2}{\partial y^2} \right\}$$

∴ the operation

$$L_x L_y - L_y L_x = [L_x, L_y]$$

$$= (-\frac{\hbar^2}{2m}) \left\{ \frac{\partial^2}{\partial x^2} - \frac{\partial^2}{\partial y^2} \right\}$$

$$\frac{\partial^2}{\partial x^2} = \frac{\partial^2}{\partial y^2} \text{ and so}$$

When x, y, z are perfect differentials.

$$\text{Thus } [L_x, L_y] = \frac{\hbar}{i} \left\{ \frac{\hbar}{i} \left(\frac{\partial^2}{\partial x^2} - \frac{\partial^2}{\partial y^2} \right) \right\}$$

$$= -\frac{\hbar}{i} \left\{ \frac{\hbar}{i} \left(\frac{\partial^2}{\partial y^2} - \frac{\partial^2}{\partial x^2} \right) \right\}$$

$$= -\frac{\hbar}{i} L_z = i\hbar L_z$$

as $[L_x, L_y] = i\hbar L_z$

Similarly

$$[L_y, L_z] = i\hbar L_x$$

$$[L_z, L_x] = i\hbar L_y$$

Next $[L^2, L_x; L_y, L_z]$ - the function

$$L^2 = L_x^2 + L_y^2 + L_z^2$$

$$[L^2, L_x] = [L_x^2 + L_y^2 + L_z^2, L_x]$$
$$= [L_x^2, L_x] + [L_y^2, L_x] + [L_z^2, L_x]$$

$$\text{But } [L_x^2, L_x] = [L_x, L_x, L_x]$$
$$= i\hbar [L_x, L_x] + [L_x, L_x] L_x$$
$$= 0$$

$$\text{Next: } [L^2, L_x] = [L_y^2, L_x] + [L_z^2, L_x]$$

$$= [L_y L_y, L_x] + [L_z L_z, L_x]$$
$$= L_y [L_y, L_x] + [L_y, L_x] L_y + L_z [L_z, L_x] + [L_z, L_x] L_z$$

$$\text{But } [L_x, L_y] = i\hbar L_z \Rightarrow [L_y, L_x] = -i\hbar L_z$$

$$\text{Also: } [L_z, L_x] = i\hbar L_y \text{ \& } [L_x, L_z] = -i\hbar L_y$$

$$\text{Therefore: } [L^2, L_x] = L_y (-i\hbar L_z) + (-i\hbar L_z) L_y$$
$$+ L_z (i\hbar L_y) + (i\hbar L_y) L_z$$

$$= 0$$

$$\therefore [L^2, L_x] = 0$$

$$\text{Also } [L^2, L_y] = 0$$

Hence L^2 commutes with all the three components of angular momentum. Hence we have simultaneous eigen functions and are simultaneously measurable.